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set.seed(15)

x <- 1:5

y <- rnorm(l -0.5% x )

mydat <- data.frame(cbind(x,y))

print (mydat)

summary( lmout <- 1Im( y ~ x, data=mydat) )
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<<fig=TRUE, echo=TRUE>>=

boxplot(0Ozone ~ Month,data = airquality)
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> set.seed(15)

>x <-1:5

>y <- rnorm(1 -0.5% x )

> mydat <- data.frame(cbind(x,y))

> print (mydat)

X y
11 0.2588229
2 1.8311207
3 -0.3396186
4 0.8971982

a b w N

5 0.4880163
> summary( lmout <- Im( y ~ x, data=mydat) )
Call:

Im(formula = y ~ x, data = mydat)

Residuals:
1 2 3 4 5
-0.46339 1.15646 -0.96673 0.31764 -0.04398

Coefficients:

Estimate Std. Error t value Pr(>|t|)

S



(Intercept) 0.76977 0.97442 0.790 0.487
X -0.04755 0.29380 -0.162 0.882

Residual standard error: 0.9291 on 3 degrees of freedom
Multiple R-squared: 0.008657, Adjusted R-squared: -0.3218
F-statistic: 0.0262 on 1 and 3 DF, p-value: 0.8817

> boxplot(Ozone ~ Month,data = airquality)
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<<keep.source=FALSE>>=

data(AirPassengers)

ap.data <- ts.intersect(diff(log(AirPassengers)),
lag(diff (log(AirPassengers)),-1))

Im(ap.datal,1] ~ap.datal,2])
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> data(AirPassengers)

> ap.data <- ts.intersect(diff(log(AirPassengers)), lag(diff(log(AirPassengers)),
+ -1))

> Im(ap.datal[, 1] ~ ap.datal, 2])

Call:

Im(formula = ap.datal, 1] ~ ap.datal, 2])

Coefficients:
(Intercept) ap.datal, 2]

0.007375 0.200815
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<<keep.source=TRUE>>=
data(AirPassengers)

ap.data <- ts.intersect(diff(log(AirPassengers)),



lag(diff (log(AirPassengers)),-1))
Im(ap.datal,1]~ap.datal,2])
(C]
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> data(AirPassengers)

> ap.data <- ts.intersect(diff(log(AirPassengers)),

+ lag(diff(log(AirPassengers)),-1))
> Im(ap.datal,1]~ap.datal,2])

Call:

Im(formula = ap.datal, 1] ~ ap.datal, 2])

Coefficients:
(Intercept) ap.datal, 2]

0.007375 0.200815



